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SEMEET. (REOH)
= 1 213, 000
E3E] FREARLEET A2y (13) 4% 40m
m 1.4mPL E
m2 125 1,704 213, 000
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WMET
= 1 419, 505
EAER R (N ELEL)
m2 205 1,863 381,915
PSRl TAT 7 Wbk
m3 5 3, 288 16, 440
LGy TAT 7 Wbk
m3 5 4, 230 21, 150
G an
= 1 178, 920
ARWE T
= 1 178, 920
AW B
=N
= 1 39, 480
ARIE G B
B
= 1 139, 440
[EEPIE % ¢
= 1 1, 195, 896
MR
= 1 545, 000
B3 TS
= 1 71, 000
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= 1 71, 000
HIBGERE (FEH L)
= 1 474, 000
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MEE: FHERRE T
= 1 3, 806, 054
BERR P
= 1 240, 670
P R T B R
= 1 3, 565, 384
G an
= 1 223, 020
ARmE T
= 1 223, 020
ARIE G B
=N
= 1 118, 440
ARIE G B
B
= 1 104, 580
[EEPIE % ¢
= 1 4, 029, 074
B SElTE
= 1 2, 055, 000
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= 1 254, 000
BIGREsET (K3 L)
= 1 254, 000
HIBGERE (FEH L)
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JH &G
= 1 2, 133, 940
EE1S L FERTA 2 SORBEER A D
~ M- A D
= 1 1, 691, 850
S
= 1 1, 215, 840
H A # AR
T 97 10, 500 1, 018, 500
Hiz#H ) E T4
T 11 17, 940 197, 340
B RO AL
= 1 209, 070
HEDE A HIEDE AME 101 6mm HIEDK
“AMEE 1850mm
VN 3 69, 690 209, 070
ARDYL E
= 1 266, 940
HFRET " ny ) Eli%E SR 30cmX 30cm
m2 4.5 58, 930 265, 185
ALy av))=hik (IE57)
m3 0.27 6, 500 1,755
G an
= 1 442, 090
ARWE T
= 1 442, 090
AW B
=N
= 1 39, 480
ARIE G B
=N
= 1 104, 580
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= 1 209, 200
[EEPIE % ¢
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= 1 99, 000
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= 1 99, 000
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= 1 5, 267, 940

- 70 - (] - xzid BE A T i




NAWA

il

*

[EEEORAR

THEXSy « T - FER - 5 B % FREAL K B G EHAMm & M| TZ (BB
JH &G
= 1 3, 089, 423
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= 1 2, 556, 043
2R T
= 1 177, 800
ERESNENR 1000 X 600
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B Bkt R 1
= 1 1, 301, 895
[ - R EVZAR S S 0Z0 8
m2 63 20, 665 1, 301, 895
AR
= 1 1,076, 348
A (=3.3m H=10m
VN 1 754, 280 754, 280
AL FHERIL S
t 5.39 59, 753 322, 068
G an
= 1 533, 380
ARWE T
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ARIE G B
&M
= 1 88, 830
AW B
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= 1 101, 280
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e 2 50, 640 101, 280
G an
= 1 20, 900
ARWE T
= 1 20, 900
AW B
B A
= 1 20, 900
[EEPIE % ¢
= 1 122, 180
IR
= 1 69, 000
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= 1 7, 000
B REsET (K3 L)
= 1 7, 000
HIBGERE (FEH L)
= 1 62, 000
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= 1 350, 910
HUHR Sy BEAT H=800 %Mtz (ZRFL=C- 34 10
ALL 304
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HR Sy BT R S ZE L (IARMD)  1048L 304
ZN 10 3, 341 33, 410
SN
= 1 42, 372
VAR X R AT E) R 15em &1 Smm
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m 19 1,345 25, 555
G an
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AW B
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= 1 31, 350
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= 1 110, 280
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VAR X R RECFE) RED-FE5 - 3CF 15em
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(5)
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G an
= 1 134, 210
ARWE T
= 1 134, 210
AW B
&M
= 1 29, 610
ARIE G B
&M
= 1 104, 600
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IR
= 1 102, 000
B3 TS
= 1 9, 000
BGmssET (K3 L)
= 1 9, 000
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= 1 93, 000
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RRUET - IR PASh
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S
= 1 87, 506
VAR X R AT E) R 15em &1L Smm
b7 el
(1)
m 90 552 49, 680
VAR X R AT E) R 15em &1L 5mm
b7 el
(3)
m 20 591. 3 11, 826
VAR X R RENFE) RKED-FE5 - 3CF 15em
BB 1. 5mm BEAKVESEEG
(5)
m 20 1, 300 26, 000
G an
= 1 134, 210
RME T
= 1 134, 210
ARIE G B
&M
= 1 29, 610
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&M
= 1 104, 600
[EEPIE % ¢
= 1 221,716
IR
= 1 101, 000
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= 1 25, 000
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JH &G
= 1 8,174, 263
R+ 42BP  T)IFHIC
= 1 2, 880, 348
BIEI =1 =4 T2
= 1 1, 630, 330
YA =4 TemZ# Z2 12embL T 8 dEAs
HURZIIR (20) DS5000 S'EAs # L
1174 (20) DS3000
m2 239 6, 196 1, 480, 844
HE R (i B I
m3 23 1, 602 36, 846
ALy TAT 7 Wbk
m3 23 4, 230 97, 290
EEERR BT TAT7WMEHEERR 15emEl
= 1 15, 350
Al
= 1 696, 960
T RPN-501
m2 80 8,712 696, 960
JEEEATEY T
= 1 492, 921
HR Sy AT H=800 "JZE=(ZR 7L LARE) 10
VN ST
ZN 9 51, 150 460, 350
HRR S BEAE A ZE AL AR 1OARS
ZN 9 3,619 32,571
S
= 1 60, 137
VAR X R AR FE) R 15em &1L 5mm
A Al 2 fe
(10)
m 70 495. 4 34,678
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T Xy« LA - AR - A0 % BRI B & A HU i 2 (BB
VRl =X TR AT E) KEI-L5 - 3CF 15em
BB JE 1. Smm P P A
(13)
m 14 1,212 16, 968
VAR X R R FE) 7777 45cm JE 1. 5mm
A P fil 2 fe
(18)
m 7 1,213 8, 491
G an
= 1 194, 800
A B L
= 1 194, 800
R EE R B
1K
= 1 60, 900
R EE R B
1KTH]
= 1 133, 900
REUCTPN (14 48 BPIX i3 52 8T)
= 1 3, 905, 065
X iR L
= 1 3,905, 065
Rl =X TR A TFE) AR 45em JE 1. 5mm
B2
)
m 220 1,232 271, 040
Rl =X TR R TE) AR 15em 21, Smm
B PERh A
(3)
m 850 591.3 502, 605
VAR X R RRETFE) RE1- 35 0T 15em
BUE 21 5mm PEA e
(5)
m 390 1, 300 507, 000
VRl =X TR A TFE) EHR 20em JE 1. 5mm
PR
(20)
m 2, 440 647 1,578, 680
rE R P X T 77 A=) FERR 20em
(19)
m 870 1,202 1, 045, 740
%
= 1 1, 194, 050
- 82 - E 2@ BT A R




NAWA

il

*

(R 4BP  T)IFHEIC

THEXSy « T - FER - 5 ps2) FREAL K B G EHAMm & M| TZ (BB
AWE LT
= 1 1, 194, 050
ARIE G B
&M
= 1 148, 050
ARIE G B
&M
= 1 1, 046, 000
[EEPIE % ¢
= 1 8,174, 263
IR
= 1 3, 124, 000
HIBGRE
= 1 461, 000
TEE
= 1 174, 000
R R
= 1 174, 000
BIGREsET (K3 L)
= 1 287, 000
HIBGERE (FEH L)
= 1 2, 663, 000
Wi
= 1 11, 298, 263
s
= 1 6, 338, 000
T AT
= 1 17, 636, 263
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JH &G
= 1 3, 268, 904
JUNgFTT (XA B )
= 1 2, 859, 354
S
= 1 2, 859, 354
VAR X R AT E) R 15em &1L 5mm
b7 el
(1)
m 2,810 552 1,551,120
VAR X R AR TFE) 56 45em JE 1. Smm
b7 el
(2)
m 180 1,232 221, 760
VAR X R AT E) R 15em JE 1. Smm
b7/ el
(3)
m 980 591. 3 579, 474
VA G X R RICFE) RKED-FE5 - 3CF 15em
BB 1. 5mm BEAKVEEES
(5)
m 390 1, 300 507, 000
G an
= 1 409, 550
RME T
= 1 409, 550
ARG B
&M
= 1 148, 050
ARG B
&M
= 1 261, 500
[EEPEIE % ¢
= 1 3, 268, 904
IR
= 1 1, 282, 000
IR
= 1 179, 000
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MR E (FE L)
= 1 1,103, 000
Wi
= 1 4, 550, 904
B
= 1 2, 865, 000
T AT
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